BT R ()

!
%ﬁ&+*?&n’@@:%é%é§&° (10%)
n:

ka, 27 3"B kT o FEfa +a, a0+ Ay B ° (15%)

KP,q,rafizt0elz Fenz pRf FEL0E 125 - 7 &KX

i 1" ! + 1 + 1 <20 (15%)

[x=p[ |x=af |x-r]

BHAGE R AN (Y+D)? =x" +20x% +104x% + 40X + 2004 ¢ 5 B HfE (X, Y)
(20% )

ML AR ETLEBEC > < wBECipEEd E e ML - T
THRM > S RfpEhE =) ¢ wBLAS EMM - B AV IAEESRM
b hd #H o % A B,CZ 84— = &7 ABC o

(a) % : AABC ek *» & ff B = P > B AABC #— B 27 = 49 o

(b) £d=6,h=4 > &£ AABC thk > & f# o (20%)

L 1t 1o
2+a+b 2+4+b+c 2+c+a 2

%a,b,c>0> * abc=8 - FH :



